Titanic (p4-5)
1. Find sentences with the words: warning, message, iceberg. Translate them.

2. Give all the adjectives that go together with the following words from the text:

Message, warning, iceberg, water.
3. Write out from the story 10 irregular verbs.

4. Match the beginning and the end of each sentence.

1. There was only one thing that 
2. Captain Smith and the ship's builder, 
3. Lookouts Frederick Fleet and Reginald Lee 
4. The iceberg was thirty meters 
5. Nobody knew it yet, but this was 
6. Many passengers wanted to send personal messages 
7.  Phillips put it down on his desk and 
a) the beginning of the end for the Titanic.
b) Captain Smith could  do now.

c) continued with his work.
d) were cold and tired.

e) Thomas Andrews, went below to check.
f) higher than the top decks.
g) to friends and relatives on land.
5. Put the sentences in correct order.
1. The iceberg hit the side of the ship. 
2. The Titanic was sinking.

3. But Phillips and Bride were receiving messages from other ships also.
4. Suddenly, Fleet saw a large, black shape in the ocean. 
5. Early in the afternoon, Phillips received an ice warning from a ship called the Baltic. 
6. This one was from a ship called the Californian. 
7. Captain Smith hurried to the bridge.
6. Agree or disagree with the following statements. Prove it using the text.

1. Phillips and Bride were sending messages to the other ships .
2. Californian couldn't move through the ice. 
3. He rang the warning but didn’t telephone the bridge.
4. The iceberg was thirty meters long. 
5. Captain Smith hurried to sit in the lifeboat.
6. Captain Smith ordered the crew to prepare the lifeboats.
7. The ship could float with water in the five compartments.
7. Imagine that you are Captain Smith (Jack Phillips). Describe the events from your point of view.
8. Can we say that Jack Phillips was bad(good) radio operator. Prove it.
9. Give reasons: 
1. Why were radio operators busy?
2. Why did Jack Phillips ask the radio to shut up?
3. Why didn’t Captain Smith show the message to the officers?

4. Why did Thomas Andrews go to the lower decks?
10. Make a literary translation of the 8th passage. (The iceberg was thirty metres…)
11. Retell this part of the text.

